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Types of Cost Behavior Patterns

Summary of VC and FC Behavior
Cost In Total Per Unit

Total VC is VC per unit remains
VC proportional to the activity the same over wide ranges

level within the RR of activitylevel within the RR. of activity.

Total FC remains the
same even when the activity FC per unit goes

FC level changes within the down as activity level goes up. 
RR.
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Prepare an Income Statement 
Using the CM FormatUsing the CM Format

Total UnitTotal Unit
Revenue 100,000$ 50$
Less: VC 60 000 30Less: VC 60,000 30
CM 40,000$ 20$
Less:  FC 30,000
Net Income 10,000$

Th CM f t h i t b h i CMTh CM f t h i t b h i CMThe CM format emphasizes cost behavior.  CMThe CM format emphasizes cost behavior.  CM
covers FCs and provides for Net Income.covers FCs and provides for Net Income.
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Uses of the Contribution (CM) Format

Th CM i t t t f t i dTh CM i t t t f t i dThe CM income statement format is used as an The CM income statement format is used as an 
internal planning and decision making tool. Uses internal planning and decision making tool. Uses 
f thi h i l df thi h i l dof this approach include:of this approach include:

1.1. CVP analysisCVP analysisyy

2.2. BudgetingBudgeting

3.3. Segmented reporting of profit dataSegmented reporting of profit data

44 Special decisions s ch as pricing and makeSpecial decisions s ch as pricing and make oror4.4. Special decisions such as pricing and makeSpecial decisions such as pricing and make--oror--
buy analysisbuy analysis
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Contribution (CM) Format

Used primarily forUsed primarily for
external reportingexternal reporting

Used primarily byUsed primarily by
managementmanagementexternal reporting.external reporting. management.management.
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Mixed Costs 

The total mixed cost line can be expressedThe total mixed cost line can be expressed
as an equation:   Y = a + bX

Where: Y = the total mixed cost

t

Y

Where: Y the total mixed cost
a = the total FC (the Y intercept)

b = the VC per unit of activity

ty
 C

os

p y
(the slope of the line)

X = the level of activity

Variable 
C t KWal
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Fixed Monthly

Cost per KW

Activity (Kilowatt Hours)
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X
Utility ChargeActivity (Kilowatt Hours)
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Mixed Costs Example

If your fixed monthly utility charge is $40, your VC is $0.03 perIf your fixed monthly utility charge is $40, your VC is $0.03 per kwhkwh,,If your fixed monthly utility charge is $40, your VC is $0.03 perIf your fixed monthly utility charge is $40, your VC is $0.03 per kwhkwh,,
and your monthly activity level is 2,000 and your monthly activity level is 2,000 kwhkwh, what is the amount of , what is the amount of 
your utility bill?your utility bill?

Y  =  a  +  bX
Y  =  $40 +  ($0.03 × 2,000)
Y  = $100$100
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Scattergraph Method

Use one data point to estimate the total level of activity Use one data point to estimate the total level of activity 
and the total cost. and the total cost. 

Y Total maintenance cost = $11 000Total maintenance cost = $11 000
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Scattergraph Method

Make a quick estimate of VC per unit and determine the Make a quick estimate of VC per unit and determine the 
cost equation. cost equation. 

Total maintenance at 800 patients 11 000$Total maintenance at 800 patients 11,000$
Less: Fixed cost 10,000
Estimated total variable cost for 800 patients 1,000$

VC per unit = $1,000 = $1 25/patient$1 25/patient--daydayVC per unit 800 $1.25/patient$1.25/patient dayday

Y = $10 000 + $1 25XY = $10 000 + $1 25XY $10,000 + $1.25XY $10,000 + $1.25X

Total maintenance costTotal maintenance cost Number of patient daysNumber of patient daysTotal maintenance costTotal maintenance cost Number of patient daysNumber of patient days
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High-Low Method

The The VC per hourVC per hour of of 
maintenance is equal to maintenance is equal to 
the change in cost divided the change in cost divided 
by the change in hours.by the change in hours.y gy g

$2 400 = $8.00/hour$8.00/hour$2,400
300
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High-Low Method

Total FC = Total CostTotal FC = Total Cost –– Total VCTotal VCTotal FC Total CostTotal FC Total Cost Total VCTotal VC

Total FC = $9,800 Total FC = $9,800 –– ($8/hour ($8/hour ×× 800 hours)800 hours)

Total FC = $9,800 Total FC = $9,800 –– $6,400$6,400

Total FC = Total FC = $3,400$3,400
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High-Low Method

Y = $3 400 + $8 00Y = $3 400 + $8 00XX
The Cost Equation for Maintenance

Y = $3,400 + $8.00Y = $3,400 + $8.00XX
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Regression Method

A method used to analyze mixed costs if a scattergraph plot revealsA method used to analyze mixed costs if a scattergraph plot reveals
an approximately linear relationship between the X and Y variables.

This method usesThis method uses allall of theof theThis method usesThis method uses allall of theof the
data points to estimatedata points to estimate
the fixed and variablethe fixed and variable

t t ft t fcost components of acost components of a
mixed cost.mixed cost.

The goal of this method isThe goal of this method is
t fit t i ht li t tht fit t i ht li t thto fit a straight line to theto fit a straight line to the
data that data that minimizes theminimizes the

sum of the squared errorssum of the squared errors..qq
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Regression Method

• Software can be used to fit 
a regression line through 
the data points.

• The cost analysis objectiveThe cost analysis objective
is the same: Y = a + bX

Regression also provides a statistic, called the R2,
which is a measure of the goodness of fit of the 
regression line to the data points.
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Regression Method

R2 i th t f th i ti i t t l tR2 is the percentage of the variation in total cost
explained by the activity.
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the higher the percentage the better
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